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chapter nine

building the Aggregate Expenditures model

CHAPTER OVERVIEW

The central purpose of this chapter is to introduce the basic analytical tools that will help us organize our thinking about macroeconomic theories and controversies.  First, the historical backdrop of the aggregate expenditures model is established.  Next, the focus is on the consumption-income and saving-income relationships that are part of the model.  Third, investment is examined, and finally, the consumption, saving, and investment concepts are combined to explain the equilibrium levels of output, income, and employment in a private (no government), domestic (no foreign sector) economy.

LECTURE NOTES

I.
Introduction—What Determines GDP?

A.
This chapter and the next focus on the aggregate expenditures model.  We use the definitions and facts from previous chapters to shift our study to the analysis of economic performance.  The aggregate expenditures model is one tool in this analysis.  Recall that “aggregate” means total.

B.
As explained in this chapter’s Last Word, the model originated with John Maynard Keynes (Pronounced Canes).  

C.
The focus is on the relationship between income and consumption and savings.

D.
Investment spending, an important part of aggregate expenditures, is also examined.

E.
Finally, these spending categories are combined to explain the equilibrium levels output and employment in a private (no government), domestic (no foreign sector) economy.  Therefore, GDP=NI=PI=DI in this very simple model.

II.
Simplifying Assumptions for this Chapter

A.
We assume a “closed economy” with no international trade.

B. Government is ignored; focus is on private sector markets until next chapter.

C. Although both households and businesses save, we assume here that all saving is personal.

D.
Depreciation and net foreign income are assumed to be zero for simplicity.

E.
There are two reminders concerning these assumptions.

1.
They leave out two key components of aggregate demand (government spending and foreign trade), because they are largely affected by influences outside the domestic market system.

2.
With no government or foreign trade, GDP,  national income (NI), personal income (PI), and disposable income (DI) are all the same.

III.
Tools of Aggregate Expenditures Theory:  Consumption and Saving

A.
The theory assumes that the level of output and employment depend directly on the level of  aggregate expenditures.  Changes in output reflect changes in aggregate spending.

B.
Consumption and saving:  Since consumption is the largest component of aggregate spending, we analyze its determinants.

1. Disposable income is the most important determinant of consumer spending (see Figure 9-1 in text which presents historical evidence).

a. What is not spent is called saving.

b. Therefore, DI – C = S or C + I = DI

2.
In Figure 9-1 we see a 45-degree line which represents all points where consumer spending is equal to disposable income; other points represent actual C, DI relationships for each year from 1980-2000.

3.
If the actual graph of the relationship between consumption and income is below the 45-degree line, then the difference must represent the amount of income that is saved.

4.
Look at 1996 where consumption was $5238 billion and disposable income was $5678 billion.  Hence, saving was $440 billion.

5.
The graph illustrates that as disposable income increases both consumption and saving  increase.

6.
Some conclusions can be drawn:

a.
Households consume a large portion of their disposable income.

b.
Both consumption and saving are directly related to the level of income.

C.
The consumption schedule:

1. The dots in Figure 9-1 represent actual historical data.

2.  A hypothetical consumption schedule (Table 9‑1 and Key Graph 9-2a) shows that households spend a larger proportion of a small income than of a large income.

3.
A hypothetical saving schedule (Table 1, column 3) is illustrated in Key Graph 9-2b.

4.
Note that “dissaving” occurs at low levels of disposable income, where consumption exceeds income and households must borrow or use up some of their wealth.

D.
Average and marginal propensities to consume and save:

1.
Define average propensity to consume (APC) as the fraction or %  of income consumed  (APC = consumption/income).  See Column 4 in Table 9-1.

2.
Define average propensity to save (APS) as a the fraction or %  of income saved  (APS = saving/income).  See Column 5 in Table 9-1.

3.
Global Perspective 9-1 shows the APCs for several nations in 1999.  Note the high APC for both U.S. and Canada.

4.
Marginal propensity to consume (MPC) is the fraction or proportion of any change in income that is consumed. (MPC = change in consumption/change in income.)  See Column 6 in Table 9-1.

5.
Marginal propensity to save (MPS) is the fraction or proportion of any change in income that is saved. (MPS = change in saving/change in income.)  See Column 7 in Table 9-1.

6.
Note that APC + APS = 1 and MPC + MPS = 1.

7. Note that Figure 9-3 illustrates that MPC is the slope of the consumption schedule, and MPS is the slope of the saving schedule.

8. Test Yourself:  Try the Self-Quiz below Key Graph 9-2.

E.
Nonincome determinants of consumption and saving can cause people to spend or save more or less at various income levels, although the level of income is the basic determinant.

1.
Wealth:  An increase in wealth shifts the consumption schedule up and saving schedule down.  In recent years major fluctuations in stock market values have increased the importance of this wealth effect.

2. Expectations: Changes in expected inflation or future wealth can affect consumption spending today. 

3. Household debt:  Lower debt levels shift consumption schedule up and saving schedule down.

4.
Taxation:  Lower taxes will shift both schedules up since taxation affects both spending and saving, and vice versa for higher taxes.

F.
Shifts and stability:  See Figure 9-4.

1.
Terminology:  Movement from one point to another on a given schedule is called a change in amount consumed; a shift in the schedule is called a change in consumption schedule.

2.
Schedule shifts:  Consumption and saving schedules will always shift in opposite directions unless a shift is caused by a tax change.

4. Stability:  Economists believe that consumption and saving schedules are generally stable unless deliberately shifted by government action.  


G.  Review these aggregate expenditures concepts with Quick Review 9-1.

IV.
Investment

A. Investment, the second component of private spending, consists of spending on new plants, capital equipment, machinery, inventories, construction, etc.

1.  The investment decision weighs marginal benefits and marginal costs.

2.
The expected rate of return is the marginal benefit and the interest rate represents the marginal cost.

B.  Expected rate of return is found by comparing the expected economic profit (total revenue minus total cost) to cost of investment to get expected rate of return.  The text’s example gives $100 expected profit, $1000 investment for a 10% expected rate of return.  Thus, the business would not want to pay more than 10% interest rate on investment.

C.
The real interest rate, i (nominal rate corrected for expected inflation), is the cost of investment.

1.
Interest rate is either the cost of borrowed funds or the cost of investing your own funds, which is income forgone.

2.  If real interest rate exceeds the expected rate of return, the investment should not be made.

D.
Investment demand schedule, or curve, shows an inverse relationship between the interest rate and amount of investment.

1.
As long as expected return exceeds interest rate, the investment is expected to be profitable (see Table 9‑2 example).

2. Key Graph 9-5 shows the relationship when the investment rule is followed.  Fewer     projects are expected to provide high return, so less will be invested if interest rates are high.  

3.  Test yourself with Quick Quiz 9-5.

       E.  Shifts in investment demand occur when any determinant apart from the interest rate changes.  

1.  Greater expected returns create more investment demand; shift curve to right.  The reverse causes a leftward shift.


a.
Acquisition, maintenance, and operating costs of capital goods may change.


b.
Business taxes may change.


c.
Technology may change.


d.
Stock of capital goods on hand will affect new investment.


e.
Expectations can change the view of expected profits.

F.
In addition to the investment demand schedule, economists also define an  investment schedule that shows the amounts business firms collectively intend to invest at each possible level of GDP or DI.

1.
In developing the investment schedule, it is assumed that investment is independent of the current income.  The line Ig (gross investment) in Figure 9‑7b shows this graphically related to the level determined by Figure 9-7a.

2.
The assumption that investment is independent of income is a simplification, but will be used here.

3. Table 9-3 shows the investment schedule from GDP levels given in Table 9-1.

G.  Investment is a very unstable type of spending; I is more volatile than GDP  (See Figure 9-8).

1.
Capital goods are durable, so spending can be postponed or not.  This is unpredictable.

2.
Innovation occurs irregularly.

3.
Profits vary considerably.

4.
Expectations can be easily changed.

V.
Equilibrium GDP:  Expenditures-Output Approach

A.
Look at Table 9-4, which combines data of Tables 9-1 and 9-3.

B.
Real domestic output in column 2 shows ten possible levels that producers are willing to offer, assuming their sales would meet the output planned.  In other words, they will produce $370 billion of output if they expect to receive $370 billion in revenue.

C.
Ten levels of aggregate expenditures are shown in column 6.  The column shows the amount of consumption and planned gross investment spending (C + Ig) forthcoming at each output level.

1.
Recall that consumption level is directly related to the level of income and that here income is equal to output level.

2.
Investment is independent of income here and is planned or intended regardless of the current income situation.

D.
Equilibrium GDP is the level of output whose production will create total spending just sufficient to purchase that output.  Otherwise there will be a disequilibrium situation.

1.  In Table 9-4, this occurs only at $470 billion.

2.
At $410 billion GDP level, total expenditures (C + Ig) would be $425 = $405(C) + $20 (Ig) and businesses will adjust to this excess demand by stepping up production.  They will expand production at any level of GDP less than the $470 billion equilibrium.

3.
At levels of GDP above $470 billion, such as $510 billion, aggregate expenditures will be less than GDP.  At $510 billion level, C + Ig = $500 billion.  Businesses will have unsold, unplanned inventory investment and will cut back on the rate of production.  As GDP declines, the number of jobs and total income will also decline, but eventually the GDP and aggregate spending will be in equilibrium at $470 billion.

E.
Graphical analysis is shown in Figure 9-9 (Key Graph).  At $470 billion it shows the C + Ig schedule intersecting the 45-degree line which is where output = aggregate expenditures, or the equilibrium position.

1.
Observe that the aggregate expenditures line rises with output and income, but not as much as income, due to the marginal propensity to consume (the slope) being less than 1.

2. A part of every increase in disposable income will not be spent but will be saved.

3. Test yourself with Quick Quiz 9-9.

VI. Two Other Features of Equilibrium GDP 

A.  Savings and planned investment are equal.

1. It is important to note that in our analysis above we spoke of “planned” investment.  At GDP = $470 billion in Table 9-4, both saving and planned investment are $20 billion.

2. Saving represents a “leakage” from spending stream and causes C to be less than GDP.

3. Some of output is planned for business investment and not consumption, so this investment spending can replace the leakage due to saving.

a.
If aggregate spending is less than equilibrium GDP as it is in Table 9-4, line 8 when GDP is $510 billion, then businesses will find themselves with unplanned inventory investment on top of what was already planned.  This unplanned portion is reflected as a business expenditure, even though the business may not have desired it, because the total output has a value that belongs to someone—either as a planned purchase or as an unplanned inventory.

b.
If aggregate expenditures exceed GDP, then there will be less inventory investment than businesses planned as businesses sell more than they expected.  This is reflected as a negative amount of unplanned investment in inventory.  For example, at $450 billion GDP, there will be $435 billion of consumer spending, $20 billion of planned investment, so businesses must have experienced a $5 billion unplanned decline in inventory because sales exceed that expected.

B. In equilibrium there are no unplanned changes in inventory.

1. Consider row 7 of Table 9-4 where GDP is $490 billion, here C + Ig is only $485 billion and will be less than output by $5 billion.  Firms retain the extra $5 billion as unplanned inventory investment.  Actual investment is $25 billion or more than $20 billion planned. So $490 billion is an above-equilibrium output level.

2. Consider row 5, Table 9-4.  Here $450 billion is a below-equilibrium output level because actual investment will be $5 billion less than planned.  Inventories decline below what was planned.  GDP will rise to $470 billion.

C. Quick Review:  Equilibrium GDP is where aggregate expenditures equal real domestic output.  (C + planned Ig = GDP)

1.
A difference between saving and planned investment causes a difference between the production and spending plans of the economy as a whole.

2.
This difference between production and spending plans leads to unintended inventory investment or unintended decline in inventories.

3.
As long as unplanned changes in inventories occur, businesses will revise their production plans upward or downward until the investment in inventory is equal to what they planned.  This will occur at the point that household saving is equal to planned investment.

4.
Only where planned investment and saving are equal will there be no unintended investment or disinvestment in inventories to drive the GDP down or up. 

VII.  Last Word:  Say’s Law, The Great Depression, and Keynes

A.
Until the Great Depression of the 1930, most economists going back to Adam Smith had believed that a market system would ensure full employment of the economy’s resources except for temporary, short-term upheavals.

B.
If there were deviations, they would be self-correcting.  A slump in output and employment would reduce prices, which would increase consumer spending; would lower wages, which would increase employment again; and would lower interest rates, which would expand investment spending.

C.
Say’s law, attributed to the French economist J. B. Say in the early 1800s, summarized the view in a few words:  “Supply creates its own demand.”

D.
Say’s law is easiest to understand in terms of barter.  The woodworker produces furniture in order to trade for other needed products and services.  All the products would be traded for something, or else there would be no need to make them.  Thus, supply creates its own demand.

E.
Reformulated versions of these classical views are still prevalent among some modern economists today.
F.
The Great Depression of the 1930s was worldwide.  GDP fell by 40 percent in U.S. and the unemployment rate rose to nearly 25 percent (when most families had only one breadwinner).  The Depression seemed to refute the classical idea that markets were self-correcting and would provide full employment.

G.
John Maynard Keynes in 1936 in his General Theory of Employment, Interest, and Money, provided an alternative to classical theory, which helped explain periods of recession.

1.
Not all income is always spent, contrary to Say’s law.

2.
Producers may respond to unsold inventories by reducing output rather than cutting prices.

3.
A recession or depression could follow this decline in employment and incomes.

H. The modern aggregate expenditures model is based on Keynesian economics or the ideas that have arisen from Keynes and his followers since.  It is based on the idea that saving and investment decisions may not be coordinated, and prices and wages are not very flexible downward.  Internal market forces can therefore cause depressions and government should play an active role in stabilizing the economy.

chapter ten

Aggregate Expenditures: The Multiplier,
Net Exports and government

CHAPTER OVERVIEW

We have seen in Chapter 9 why a particular level of real GDP exists in a private, closed economy.  Now we examine how and why that level might change.  By adding the foreign sector and government to the model we gain complexity and realism.

First, the chapter analyzes changes in investment spending and how they could affect real GDP, income, and employment, finding that changes in investment are multiplied in their impact on output and incomes.  The simplified “closed” economy is “opened” to show how it would be affected by exports and imports.  Government spending and taxes are brought into the model to reflect the “mixed” nature of our system.  Finally, the model is applied to two historical periods in order to consider some of the model’s deficiencies.  The price level is assumed constant in this chapter unless stated otherwise, so the focus is on real GDP.

LECTURE NOTES

I.
Introduction

A.
This chapter examines why real GDP might be unstable and subject to cyclical fluctuations.

B.
The revised model adds realism by including the foreign sector and government in the aggregate expenditures model.

C.
Applications of the new model include two U.S. historical periods and the current situation in Japan. The focus remains on real GDP.

II.
Changes in Equilibrium GDP and the Multiplier

A.
Equilibrium GDP changes in response to changes in the investment schedule or to changes in the consumption schedule.  Because investment spending is less stable than the consumption schedule, this chapter’s focus will be on investment changes.

B.
Figure 10-1 shows the impact of changes in investment.  Suppose investment spending rises (due to a rise in profit expectations or to a decline in interest rates).


1.
Figure 10-1 shows the increase in aggregate expenditures from (C + Ig)0 to (C + Ig)1.  In this case, the $5 billion increase in investment leads to a $20 billion increase in equilibrium GDP.


2.
Conversely, a decline in investment spending of $5 billion is shown to create a decrease in equilibrium GDP of $20 billion to $450 billion.

C.
The multiplier effect:

1.
A $5 billion change in investment led to a $20 billion change in GDP.  This result is known as the multiplier effect.

2.
Multiplier = change in real GDP / initial change in spending.  In our example M = 4.

3.
Three points to remember about the multiplier:

a.
The initial change in spending is usually associated with investment because it is so volatile.

b.
The initial change refers to an upshift or downshift in the aggregate expenditures schedule due to a change in one of its components, like investment.

c.
The multiplier works in both directions (up or down).

D.
The multiplier is based on two facts.

1.
The economy has continuous flows of expenditures and income—a ripple effect—in which income received by Jones comes from money spent by Smith.

2.
Any change in income will cause both consumption and saving to vary in the same direction as the initial change in income, and by a fraction of that change.

a.
The fraction of the change in income that is spent is called the marginal propensity to consume (MPC).

b.
The fraction of the change in income that is saved is called the marginal propensity to save (MPS).

c.
This is illustrated in Table 10-1 and Figure 10-2 which is derived from the Table.

3.
The size of the MPC and the multiplier are directly related; the size of the MPS and the multiplier are inversely related.  See Figure 10-3 for an illustration of this point.  In equation form M = 1 / MPS or   1 / (1-MPC).

E.
The significance of the multiplier is that a small change in investment plans or consumption-saving plans can trigger a much larger change in the equilibrium level of GDP.

F.
The simple multiplier given above can be generalized to include other “leakages” from the spending flow besides savings.  For example, the realistic multiplier is derived by including taxes and imports as well as savings in the equation.  In other words, the denominator is the fraction of a change in income not spent on domestic output.  (Key Question 2.)
III.
International Trade and Equilibrium Output

A.
Net exports (exports minus imports) affect aggregate expenditures in an open economy.  Exports expand and imports contract aggregate spending on domestic output.

1.
Exports (X) create domestic production, income, and employment due to foreign spending on U.S. produced goods and services.

2.
Imports (M) reduce the sum of consumption and investment expenditures by the amount expended on imported goods, so this figure must be subtracted so as not to overstate aggregate expenditures on U.S. produced goods and services.

B.
The net export schedule (Table 10-2):

1.
Shows hypothetical amount of net exports (X - M) that will occur at each level of GDP given in Tables 9-1 and 9-4.

2.
Assumes that net exports are autonomous or independent of the current GDP level.

3.
Figure 10-4b shows Table 10-2 graphically.

a.
Xn1 shows a positive $5 billion in net exports.

b.
Xn2 shows a negative $5 billion in net exports.

C.
The impact of net exports on equilibrium GDP is illustrated in Figure 10-4.

1.
Positive net exports increase aggregate expenditures beyond what they would be in a closed economy and thus have an expansionary effect.  The multiplier effect also is at work.  In Figure 10-4a we see that positive net exports of $5 billion lead to a positive change in equilibrium GDP of $20 billion (to $490 from $470 billion).  This comes from Table 9-4 and Figure 9-9.

2. Negative net exports decrease aggregate expenditures beyond what they would be in a closed economy and thus have a contractionary effect.  The multiplier effect also is at work here.  In Figure 10-4a we see that negative net exports of $5 billion lead to a negative change in equilibrium GDP of $20 billion (to $450 from $470 billion).


D.
Global Perspective 10-1 shows 1999 net exports for various nations.

E.
International economic linkages:

1.
Prosperity abroad generally raises our exports and transfers some of their prosperity to us.  (Conversely, recession abroad has the reverse effect.)

2.
Tariffs on U.S. products may reduce our exports and depress our economy, causing us to retaliate and worsen the situation.  Trade barriers in the 1930s contributed to the Great Depression.

3.
Depreciation of the dollar (Chapter 6) lowers the cost of American goods to foreigners and encourages exports from the U.S. while discouraging the purchase of imports in the U.S. This could lead to higher real GDP or to inflation, depending on the domestic employment situation.  Appreciation of the dollar could have the opposite impact.

IV.
Adding the Public Sector

A.
Simplifying assumptions are helpful for clarity when we include the government sector in our analysis.  (Many of these simplifications are dropped in Chapter 12, where there is further analysis on the government sector.)

1.
Simplified investment and net export schedules are used.  We assume they are independent of the level of current GDP.

2.
We assume government purchases do not impact private spending schedules.

3.
We assume that net tax revenues are derived entirely from personal taxes so that GDP, NI, and PI remain equal.  DI is PI minus net personal taxes.

4.
We assume tax collections are independent of GDP level.

5.
The price level is assumed to be constant unless otherwise indicated.

B.
Table 10-3 gives a tabular example of a $20 billion increase in government spending and Figure 10-5 gives the graphical illustration.

1.
Increases in government spending boost aggregate expenditures.

2.
Government spending is subject to the multiplier.

C.
Table 10-4 and Figure 10-6 show the impact of a tax increase.  (Key Question 8)

1.
Taxes reduce DI and, therefore, consumption and saving at each level of GDP.

2.
An increase in taxes will lower the aggregate expenditures schedule relative to the 45-degree line and reduce the equilibrium GDP.

3.
Table 10-4 confirms that, at equilibrium GDP, the sum of leakages equals the sum of injections.  Saving + Imports + Taxes = Investment + Exports + Government Purchases.

D.
Balanced-budget multiplier is a curious result of this effect. (See Figure 10-7)

1.
Equal increases in government spending and taxation increase the equilibrium GDP.  

a.
If G and T are each increased by a particular amount, the equilibrium level of real output will rise by that same amount.

b.
In the text’s example, an increase of $20 billion in G and an offsetting increase of $20 billion in T will increase equilibrium GDP by $20 billion (from $470 billion to $490 billion).

2.
The example reveals the rationale.

a.
An increase in G is direct and adds $20 billion to aggregate expenditures.

b.
An increase in T has an indirect effect on aggregate expenditures because T reduces disposable incomes first, and then C falls by the amount of the tax times MPC.

c.
The overall result is a rise in initial spending of $20 billion minus a fall in initial spending of $15 billion (.75  $20 billion), which is a net upward shift in aggregate expenditures of $5 billion.  When this is subject to the multiplier effect, which is 4 in this example, the increase in GDP will be equal to 4  $5 billion or $20 billion, which is the size of the change in G.

d.
It can be seen, therefore, that the balanced-budget multiplier is equal to 1.

e.
This can be verified by using different MPCs .

V.
Equilibrium vs. Full-Employment GDP

A.
A recessionary gap exists when equilibrium GDP is below full-employment GDP.  (See Figure 10-8a)

1.
Recessionary gap of $5 billion is the amount by which aggregate expenditures fall short of those required to achieve the full-employment level of GDP.

2.
In Table 10-4, assuming the full-employment GDP is $510 billion, the corresponding level of total expenditures there is only $505 billion.  The gap would be $5 billion, the amount by which the schedule would have to shift upward to realize the full-employment GDP.

3.
Graphically, the recessionary gap is the vertical distance by which the aggregate expenditures schedule (Ca + Ig + Xn + G)1 lies below the full-employment point on the 45-degree line.

4.
Because the multiplier is 4, we observe a $20-billion differential (the recessionary gap of $5 billion times the multiplier of 4) between the equilibrium GDP and the full-employment GDP.  This is the $20 billion GDP gap we encountered in Chapter 8’s Figure 8-4.

B.
An inflationary gap exists when aggregate expenditures exceed full-employment GDP.

1.
Figure 10-8b shows that a demand-pull inflationary gap of $5 billion exists when aggregate spending exceeds what is necessary to achieve full employment.

2.
The inflationary gap is the amount by which the aggregate expenditures schedule must shift downward to realize the full-employment noninflationary GDP.

3.
The effect of the inflationary gap is to pull up the prices of the economy’s output.

4.
In this model, if output can’t expand, pure demand-pull inflation will occur (Key Question 10).

C. Table 10-5 gives steps needed to determine the recessionary or inflationary gap.

D. Try Quick Quiz 10-8.

VI.
Historical Applications 

A.
The Great Depression of the 1930s provides a significant case study.  In the U.S. a major factor was the decline in investment spending, which fell by about 90% in the 1930s.  Global Perspective 10-2 shows the depression was worldwide.

1.
In the U.S. overcapacity and business indebtedness had resulted from excessive expansion by businesses in the 1920s, during a period of prosperity.  Expansion of the auto industry ended as the market became saturated, and this affected related industries of petroleum, rubber, steels, glass, and textiles.

2.
A decline in residential construction followed the boom of the 1920s, which had resulted from population growth and a need for housing following World War I.

3.
In October 1929, a dramatic crash in stock market values occurred, causing pessimism and highly unfavorable conditions for acquiring additional investment funds.

4.
The nation’s money supply fell as a result of Federal Reserve monetary policies and other forces.

B.
The Vietnam War era inflation provides an example of an inflationary gap period.

1.
The policies of the Kennedy and Johnson administrations had called for fiscal incentives to increase aggregate demand.  A tax credit encouraged investment spending.

2.
Unemployment levels had fallen from 5.2 percent in 1964 to 4.5 percent in 1965.

3.
The Vietnam War resulted in a 40 percent rise in government defense expenditures and a draft that removed young people from potential unemployment.  The unemployment rate fell below 4 percent from 1966 to 1969.

4.
In terms of Figure 10-8, the boom in investment and government spending boosted the aggregate expenditures schedule upward and created a sizable inflationary gap.

C. The End of the Japanese Growth “Miracle.”

1. Japanese economic growth was high, 9.7% annual average from 1966-1974 and 3.9% annually from 1974-1990.  Unemployment was very low.

2. In 1990s its economy slowed to a halt.

3. Why did growth stop?  Japan has a high saving rate, and when planned investment fell below saving, aggregate expenditures were below output.  An unplanned inventory rise led firms to cut back production and a recessionary gap results.

4. It is difficult to reverse this cycle.

VII.
Limitations of the Model

A.
The aggregate expenditures model has four limitations.

1.
The model can account for demand-pull inflation, but it does not indicate the extent of inflation when there is an inflationary gap.  It doesn’t measure inflation.

2.
It doesn’t explain how inflation can occur before the economy reaches full employment.

3.
It doesn’t indicate how the economy could produce beyond full-employment output for a time.

4.
The model does not address the possibility of cost-push type of inflation.

B.
In Chapter 11, these deficiencies are remedied with a related aggregate demand-aggregate supply model.

chapter eleven

aggregate demand and aggregate supply

CHAPTER OVERVIEW

The aggregate expenditures model developed in Chapters 9 and 10 is a fixed-price-level model.  Its focus is on changes in real GDP, not on changes in the price level.  This chapter introduces a variable-price model in which it is possible to simultaneously analyze changes in real GDP and the price level.  This distinction should be made explicit for those students who have covered Chapters 9 and 10.  What students learn in this chapter will help organize their thoughts about equilibrium GDP, the price level, and government macroeconomic policies.  The tools learned will be applied in later chapters.

The present chapter introduces the concepts of aggregate demand and aggregate supply, explaining the shapes of the aggregate demand and aggregate supply curves and the forces causing them to shift.  The equilibrium levels of prices and real GDP are considered.  Finally, the chapter analyzes the effects of shifts in the aggregate demand and/or aggregate supply curves on the price level and size of real GDP.

LECTURE NOTES

I.
Introduction to AD-AS Model

A.
AD-AS model is a variable price model.  The aggregate expenditures model in Chapters 9 and 10 assumed constant price.

B. AD-AS model provides insights on inflation, unemployment and economic growth.

II.
Aggregate demand is a schedule that shows the various amounts of real domestic output that domestic and foreign buyers will desire to purchase at each possible price level.

A.
The aggregate demand curve is shown in Figure 11-1.

1.
It shows an inverse relationship between price level and domestic output.

2.
The explanation of the inverse relationship is not the same as for demand for a single product, which centered on substitution and income effects.

a.
Substitution effect doesn’t apply in the aggregate case, since there is no substitute for “everything.”

b.
Income effect also doesn’t apply in the aggregate case, since income now varies with aggregate output.

3.
What is the explanation of inverse relationship between price level and real output in aggregate demand?

a.
Real balances effect:  When price level falls, the purchasing power of existing financial balances rises, which can increase spending.

b.
Interest‑rate effect:  A decline in price level means lower interest rates which can increase levels of certain types of spending.

c. Foreign purchases effect:  When price level falls, other things being equal, U.S. prices will fall relative to foreign prices, which will tend to increase spending on U.S. exports and also decrease import spending in favor of U.S. products that compete with imports.

B. Deriving AD-curve from aggregate expenditures model.  (See Figure 11-2)

1. Both models measure real GDP on horizontal axis.

2. Suppose initial price level is P1 and aggregate expenditures AE1 as shown in Figure 11-2a.  Then equilibrium GDP is GDP1.  This is shown in Figure 11-2b.

3. If price rises to P2, aggregate expenditures will fall to AE2 because purchasing power of wealth falls, interest rates may rise, and net exports fall.  (See Figure 11-2a)  Then new equilibrium is at GDP2 shown also in Figure 11-2b.

4. If price rises to P3, real asset balance value falls, interest rates rise again, net exports fall and new equilibrium is at GDP3.  Again see Figures 11-2a and 11-2b.

C.
Determinants of aggregate demand:  Determinants are the “other things” (besides price level) that can cause a shift or change in demand (see Figure 11-3 in text).  Effects of the following determinants are discussed in more detail in the text.

1.
Changes in consumer spending, which can be caused by changes in several factors.

a.
Consumer wealth,

b.
Consumer expectations,

c.
Consumer indebtedness, and

d.
Taxes.

2.
Changes in investment spending, which can be caused by changes in several factors.

a.
Interest rates,

b.
Profit expectations,

c.
Business taxes,

d.
Technology, and

e.
Amount of excess capacity.

3.
A change in government spending is another determinant.

4.
Changes in net export spending unrelated to price level, which may be caused by changes in other factors such as:

a.
Income abroad, and

b.
Exchange rates:  Depreciation of the dollar encourages U.S. exports since U.S. products become less expensive when foreign buyers can obtain more dollars for their currency.  Conversely, dollar depreciation discourages import buying in the U.S. because our dollars can’t be exchanged for as much foreign currency.

C.
Aggregate demand shifts and the aggregate expenditures model:

1.
When there is a change in one of the determinants of aggregate demand, there will be a change in the aggregate expenditures as well.  Look at Figure 11-4.

2.
If price level remains constant, then a change in aggregate expenditures is multiplied and the real output rises by more than the initial change in spending (see the lower part of Figure 11-4).  The text illustrates the multiplier effect of a change in investment spending.

III.
Aggregate supply is a schedule showing level of real domestic output available at each possible price level.

A.
Aggregate supply curve may be viewed as having three distinct segments.  See Figure 11-5.

1.
Horizontal range:  where the price level remains constant with substantial output variation.  In this range substantial unemployment and excess capacity exist.  Economy is far below full-employment output level.

2.
Intermediate (upsloping) range:  where the expansion of real output is accompanied by rising price level, near to where the full-employment level of output exists.  Per unit production costs rise in this stage because as resource markets near full employment their prices will be bid up and, therefore, producer costs rise.

3.
Vertical range:  where absolute full capacity is assumed, and any attempt to increase output will bid up resource and product prices.  We assume full-employment occurs at the “natural rate of unemployment.”

B.
Determinants of aggregate supply:  Determinants are the “other things” besides price level that cause changes or shifts in aggregate supply (see Figure 11-6 in text).  The following determinants are discussed in more detail in the text.

1.
A change in input prices, which can be caused by changes in several factors.

a.
Availability of resources (land, labor, capital, entrepreneurial ability),

b.
Prices of imported resources, and 

c.
Market power in certain industries.

2.
Change in productivity (productivity = real output / input) can cause changes in per-unit production cost (production cost per unit = total input cost / units of output).  If productivity rises, unit production costs will fall.  This can shift aggregate supply to the right and lower prices.  The reverse is true when productivity falls.  Productivity improvement is very important in business efforts to reduce costs.

3.
Change in legal‑institutional environment, which can be caused by changes in other factors.

a.
Business taxes and/or subsidies,

b.
Government regulation.

IV.
Equilibrium:  Real Output and the Price Level

A. Equilibrium price and quantity are found where the aggregate demand and supply curves intersect.  (See Key Graph 11-7a,b for illustration of why quantity will seek equilibrium where curves intersect.)  (Key Questions 4 and 7)

B. Try Quick Quiz 11-7.

C. Shifting aggregate demand when a determinant changes will change the equilibrium.

1.
Demand-pull inflation: Shifts in the intermediate and vertical ranges will cause demand‑pull inflation with an increase in aggregate demand (Figures 11-8b and c).

2.
Shifts in the horizontal range will cause quantity changes but not price level (Figure 11-8a).

D.
The multiplier effect is weakened with price level changes in intermediate and vertical ranges of aggregate supply.  Real GDP does not change as much in Figure 11-8c as it does in Figures 11-8a even though the aggregate demand shifts are of equal magnitude.  Figure 11-9 combines the effects of Figures 11-8a and b.  Conclusion:  The more price level increases, the less effect any increase in aggregate demand will have in increasing real GDP.

E. Decreases in AD:  If AD decreases, recession and cyclical unemployment may result.  See Figure 11-10.  Prices don’t fall easily.

1. Wage contracts are not flexible so businesses can’t afford to reduce prices.

2. Also, employers are reluctant to cut wages because of impact on employee effort, etc.

3. Minimum wage laws keep wages above that level.

4. So-called menu costs are difficult to change.

5. Fear of price wars keep prices from being reduced also.

F.
Shifting aggregate supply occurs when a supply determinant changes.  (See Key Questions 5, 7, 8):

1.
Leftward shift in curve illustrates cost‑push inflation (see Figure 11-11).

2.
Rightward shift in curve will cause a decline in price level (see Figure 11-12).  See text for discussion of this desirable outcome.

chapter twelve

fiscal policy

CHAPTER OVERVIEW

This chapter looks briefly at the legislative mandates given to government to pursue stabilization of the economy; it then explores the tools of government stabilization policy in terms of the aggregate demand-aggregate (AD-AS) model.  Next, some fiscal policy measures that automatically adjust government expenditures and tax revenues when the economy moves through the business cycle phases are examined.  Finally, problems, criticism, and complications of government’s fiscal policy are addressed.

LECTURE NOTES

I.
Introduction

A.
One major function of the government is to stabilize the economy (prevent unemployment or inflation).

B.
Stabilization can be achieved in part by manipulating the public budget—government spending and tax collections—to increase output and employment or to reduce inflation.

C.
This chapter will examine a number of topics.

1.
It will look at the legislative mandates given government to pursue stabilization.

2.
It explores the tools of government fiscal stabilization policy using AD-AS model.

3.
Both discretionary and automatic fiscal adjustments are examined.

4.
The problems, criticisms, and complications of fiscal policy are addressed.

II.
Legislative mandates—The Employment Act of 1946

A.
Congress proclaimed government’s role in promoting maximum employment, production, and purchasing power.

B.
The Act created the Council of Economic Advisers to advise the President on economic matters.

C.
It created the Joint Economic Committee of Congress to investigate economic problems of national interest. 

III. Fiscal Policy and the AD/AS Model

A.
Discretionary fiscal policy refers to the deliberate manipulation of taxes and government spending by Congress to alter real domestic output and employment, control inflation, and stimulate economic growth.  “Discretionary” means the changes are at the option of the Federal government.

B.
Simplifying assumptions:

1.
Assume initial government purchases don’t depress or stimulate private spending.

2.
Assume fiscal policy affects only demand, not supply, side of the economy.

C. Fiscal policy choices: Expansionary fiscal policy is used to combat a recession (see examples illustrated in Figure 12-1).

1. Expansionary Policy needed: In Figure 12-1, a decline in investment has decreased AD from AD1 to AD2 so real GDP has fallen and also employment declined.  Possible fiscal policy solutions follow:


a.
An increase in government spending (shifts AD to right by more than change in G due to multiplier),


b.
A decrease in taxes (raises income, and consumption rises by MPC  change in income; AD shifts to right by a multiple of the change in consumption).

c. A combination of increased spending and reduced taxes.

d. If the budget was initially balanced, expansionary fiscal policy creates a budget deficit.


2.
Contractionary fiscal policy needed: When demand‑pull inflation occurs as illustrated by a shift from AD3 to AD4 in the vertical range of aggregate supply in Figure 12-2.  Then contractionary policy is the remedy:



a.
A decrease government spending shifts AD4 back to AD3 once the multiplier process is complete.  Here price level returns to its preinflationary level P3 but GDP remains at full-employment level.


b.
An increase in taxes will reduce income and then consumption at first by MPC  fall in income, and then multiplier process leads AD to shift leftward still further.  In Figure 12-2 a tax increase of $6.67 billion decreases consumption by 5 and multiplier causes eventual shift to AD3.


c.
A combined spending decrease and tax increase could have the same effect with the right combination ($2 billion decline in G and $4 billion rise in T will have this effect).

D. Financing deficits or disposing of surpluses: The method used influences fiscal policy effect.

1.
Financing deficits can be done in two ways.


a.
Borrowing:  The government competes with private borrowers for funds and could drive up interest rates; the government may “crowd out” private borrowing, and this offsets the government expansion.


b.
Money creation:  When the Federal Reserve loans directly to the government by buying bonds, the expansionary effect is greater since private investors are not buying bonds.  (Note:  Monetarists argue that this is monetary, not fiscal, policy that is having the expansionary effect in such a situation.)


2.
Disposing of surpluses can be handled two ways.


a.
Debt reduction is good but may cause interest rates to fall and stimulate spending.  This could be inflationary.


b.
Impounding or letting the surplus funds remain idle would have greater anti‑inflationary impact.  The government holds surplus tax revenues which keeps these funds from being spent.

E.
Policy options:  G or T?

1.
Economists tend to favor higher G during recessions and higher taxes during inflationary times if they are concerned about unmet social needs or infrastructure.

2.
Others tend to favor lower T for recessions and lower G during inflationary periods when they think government is too large and inefficient.

IV.
Built-In Stability

A.
Built‑in stability arises because net taxes (taxes minus transfers and subsidies) change with GDP (recall that taxes reduce incomes and therefore, spending).  It is desirable for spending to rise when the economy is slumping and vice versa when the economy is becoming inflationary.  Figure 12-3 illustrates how the built-in stability system behaves.

1.
Taxes automatically rise with GDP because incomes rise and tax revenues fall when GDP falls.

2.
Transfers and subsidies rise when GDP falls; when these government payments (welfare, unemployment, etc.) rise, net tax revenues fall along with GDP.

B.
The size of automatic stability depends on responsiveness of changes in taxes to changes in GDP:  The more progressive the tax system, the greater the economy’s built‑in stability.  In Figure 12-3 line T is steepest with a progressive tax system.

1.
A 1993 law increased the highest marginal tax rate on personal income from 31 percent to 39.6 percent and corporate income tax rate to 35% by 1 percentage.  This helped prevent demand-pull inflation.

2. Automatic stability reduces instability, but does not correct economic instability.

V.
Evaluating Fiscal Policy
A. A full‑employment budget in Year 1 is illustrated in Figure 12-4(a) because budget revenues equal expenditures when full-employment exists at GDP1.

B. At GDP2 there is unemployment and assume no discretionary government action, so lines G and T remain as shown.

1. Because of built‑in stability, the actual budget deficit will rise with decline of GDP; therefore, actual budget varies with GDP.

2. The government is not engaging in expansionary policy since budget is balanced at F.E. output.

3. The full-employment budget measures what the Federal budget deficit or surplus would be with existing taxes and government spending if the economy is at full employment.

4. Actual budget deficit or surplus may differ greatly from full‑employment budget deficit or surplus estimates.


C.
In Figure 12-4b, the government reduced tax rates from T1 to T2, now there is a F.E. deficit.

1. Structural deficits occur when there is a deficit in the full‑employment budget as well as the actual budget.

2. This is expansionary policy because true expansionary policy occurs when the full‑employment budget has a deficit.


D. If the F.E. deficit of zero was followed by a F.E. budget surplus, fiscal policy is contractionary.

E. Recent U.S. fiscal policy is summarized in Table 12-1.

1. Observe that F.E. deficits are less than actual deficits.

2. Column 3 indicates expansionary fiscal policy of early 1990s became contractionary in the later years shown.

3. Actual deficits have disappeared and the U.S. budget has actual surpluses since 1999.  (Key Question 7)

F.
Global Perspectives 12-1 gives a fiscal policy snapshot for selected countries.
VI.
Problems, Criticisms and Complications

A.
Problems of timing

1.
Recognition lag is the elapsed time between the beginning of recession or inflation and awareness of this occurrence.

2.
Administrative lag is the difficulty in changing policy once the problem has been recognized.

3.
Operational lag is the time elapsed between change in policy and its impact on the economy.

B.
Political considerations:  Government has other goals besides economic stability, and these may conflict with stabilization policy.

1. A political business cycle may destabilize the economy:  Election years have been characterized by more expansionary policies regardless of economic conditions.

a.
political business cycle?

2.
State and local finance policies may offset federal stabilization policies.  They are often procyclical, because balanced-budget requirements cause states and local governments to raise taxes in a recession or cut spending making the recession possibly worse.  In an inflationary period, they may increase spending or cut taxes as their budgets head for surplus.


3.
The crowding‑out effect may be caused by fiscal policy.


a.
“Crowding‑out” may occur with government deficit spending. It may increase the interest rate and reduce private spending which weakens or cancels the stimulus of fiscal policy.  (See Figure 12‑5)


b.
Some economists argue that little crowding out will occur during a recession.


c.
Economists agree that government deficits should not occur at F.E., it is also argued that monetary authorities could counteract the crowding‑out by increasing the money supply to accommodate the expansionary fiscal policy.

C. With an upward sloping AS curve, some portion of the potential impact of an expansionary fiscal policy on real output may be dissipated in the form of inflation.  (See Figure 12‑5c)

VI.
Fiscal Policy in an Open Economy (See Table 12-2)

A.
Shocks or changes from abroad will cause changes in net exports which can shift aggregate demand leftward or rightward.

B.
The net export effect reduces effectiveness of fiscal policy:  For example, expansionary fiscal policy may affect interest rates, which can cause the dollar to appreciate and exports to decline (or rise).

VII.
Supply‑Side Fiscal Policy

A. Fiscal policy may affect aggregate supply as well as demand (see Figure 12‑6 example).

B. Assume that AS is upward sloping for simplicity.

C. Tax changes may shift aggregate supply.  An increase in business taxes  raises costs and shifts supply to left; decrease shifts supply to the right.  

1. Also, lower taxes could increase saving and investment.


2.
Lower personal taxes may increase effort, productivity and, therefore, shift supply to the right.

3.
 Lower personal taxes may also increase risk‑taking and, therefore, shift supply to the right.

D.
If lower taxes raise GDP, tax revenues may actually rise.

E.
Many economists are skeptical of supply-side theories.

1.
Effect of lower taxes on a supply is not supported by evidence.

2.
Tax impact on supply takes extended time, but demand impact is more immediate.
VIII.
LAST WORD:  The Leading Indicators

A.
This index comprises 10 variables that have indicated forthcoming changes in real GDP in the past.

B.
The variables are the foundation of this index consisting of a weighted average of ten economic measurements.  A rise in the index predicts a rise in the GDP; a fall predicts declining GDP.

C.
Ten components comprise the index:

1.
Average workweek:  A decrease signals future GDP decline.

2.
Initial claims for unemployment insurance:  An increase signals future GDP decline.

3.
New orders for consumer goods:  A decrease signals GDP decline.

4.
Vendor performance:  Better performance by suppliers in meeting business demand indicates decline in GDP.

5.
New orders for capital goods:  A decrease signals GDP decline.

6.
Building permits for houses:  A decrease signals GDP decline.

7.
Stock market prices:  Declines signal GDP decline.

8.
Money supply:  A decrease is associated with falling GDP.

9.
Interest-rate spread: when short-term rates rise, there is a smaller spread between short-term and long-term rates which are usually higher.  This indicates restrictive monetary policy.

10.
Index of consumer expectations:  Declines in consumer confidence foreshadow declining GDP.

D. None of these factors alone is sufficient to predict changes in GDP, but the composite index has correctly predicted business fluctuations many times (although not perfectly).  The index is a useful signal, but not totally reliable.

chapter thirteen

money and banking

CHAPTER OVERVIEW

Chapters 13, 14, and 15 form a conventional unit on money and banking.  These chapters provide the foundation for the discussion of modern monetary theory and for the discussion and analysis of the monetarist and competing theories which follow.

Chapter 13 introduces the student to the U.S. financial system.  The chapter first covers the nature and functions of money and then discusses the Federal Reserve System’s definition of the money supply.  Next, the chapter addresses the question of what “backs” money by looking at the value of money, money and prices, and the management of the money supply.  The demand for money is then covered, and it is followed by an introduction and discussion of the money market.  Finally, there is a rather comprehensive description of the U.S. financial system, which focuses on the features and functions of the Federal Reserve System and recent difficulties in the U.S. financial system.

LECTURE NOTES

I.
Functions of Money

A.
Medium of exchange:  Money can be used for buying and selling goods and services.

B. Unit of account:  Prices are quoted in dollars and cents.

C. Store of value:  Money allows us to transfer purchasing power from present to future. It is the most liquid (spendable) of all assets, a convenient way to store wealth.

II.
Supply of Money

A.
Narrow definition of money:  M1 includes currency and checkable deposits (see Table 13-1).

1.
Currency (coins + paper money) held by public.

a.
Is “token” money, which means its intrinsic value is less than actual value.  The metal in a dime is worth less than 10¢.

b.
All paper currency consists of Federal Reserve Notes issued by the Federal Reserve.

2.
Checkable deposits are included in M1, since they can be spent almost as readily as currency and can easily be changed into currency.

a.
Commercial banks are a main source of checkable deposits for households and businesses.

b.
Thrift institutions (savings & loans, credit unions, mutual savings banks) also have checkable deposits.

3.
Qualification:  Currency and checkable deposits held by the federal government, Federal Reserve, or other financial institutions are not included in M1.

B.
Money Definition: M2 = M1 + some near-monies which include: (See Table 13-1)

1. Savings deposits and money market deposit accounts.

2. Certificates of deposit (time accounts) less than $100,000.

3. Money market mutual fund balances, which can be redeemed by phone calls, checks, or through the Internet.

C.
Money Definition: M3 = M2 + large certificates of deposit (time accounts) $100,000 or more (See Table 13-1)

D.
Which definitions are used?  M1 will be used in this text, but M2 is watched closely by the Federal Reserve in determining monetary policy.

1.
M2 and M3 are important because they can easily be changed into M1 types of money and influence people’s spending of income.

2.
The ease of shifting between M1, M2, and M3 complicates the task of controlling spendable money supply.

3.
The definition becomes important when authorities attempt to measure control and the money supply.

E.
Credit cards are not money, but their use involves short‑term loans; their convenience allows you to keep M1 balances low because you need less for daily purchases.

III.
What “backs” the money supply?

A.
The government’s ability to keep its value stable provides the backing.

B.
Money is debt; paper money is a debt of Federal Reserve Banks and checkable deposits are liabilities of banks and thrifts because depositors own them.

C.
Value of money arises not from its intrinsic value, but its value in exchange for goods and services.

1.
It is acceptable as a medium of exchange.

2.
Currency is legal tender or fiat money.  It must be accepted by law.  (Note that checks are not legal tender but, in fact, are generally acceptable in exchange for goods, services, and resources.)

3.
The relative scarcity of money compared to goods and services will allow money to retain its purchasing power.

D. Money’s purchasing power determines its value.  Higher prices mean less purchasing power.  (Key Question #6) (See Figure 13-1)

E. Excessive inflation may make money worthless and unacceptable.  An extreme example of this was German hyperinflation after World War I, which made the mark worth less than 1 billionth of its former value within a four-year period.

1. Worthless money leads to use of other currencies that are more stable.

2. Worthless money may lead to barter exchange system.

F. Maintaining the value of money

1. The government tries to keep supply stable with appropriate fiscal policy.

2. Monetary policy tries to keep money relatively scarce to maintain its purchasing power, while expanding enough to allow the economy to grow.

IV.
The Demand for Money : Two Components

A.
Transactions demand, Dt, is money kept for purchases and will vary directly with GDP (Figure 13‑1a).

B.
Asset demand, Da, is money kept as a store of value for later use.  Asset demand varies inversely with the interest rate, since that is the price of holding idle money (Figure 13‑1b).

C.
Total demand will equal quantities of money demanded for assets plus that for transactions (Figure 13‑1c).

V.
The Money Market:  Interaction of Money Supply and Demand

A.
Key Graph 13-1c illustrates the money market.  It combines demand with supply of money.

B.
Figure 13‑2 illustrates how equilibrium changes with a shift in the supply of money.

C.
If the quantity demanded exceeds the quantity supplied, people sell assets like bonds to get money.  This causes bond supply to rise, bond prices to fall, and a higher market rate of interest.

D.
If the quantity supplied exceeds the quantity demanded, people reduce money holdings by buying other assets like bonds.  Bond prices rise, and lower market rates of interest result (see example in text).

E. Monetary authorities can shift supply to affect interest rates, which in turn affect investment and consumption and aggregate demand and, ultimately, output, employment, and prices.  (Key Question #7)

F. Try Quick Quiz 13-2.

VI.
The Federal Reserve and the Banking System

A. The Federal Reserve System (the “Fed”) was established by Congress in 1913 and holds power over the money and banking system.

1. Figure 13-3 gives framework of Fed and its relationship to the public.

2. The central controlling authority for the system is the Board of Governors and has seven members appointed by the President for staggered 14‑year terms.  Its power means the system operates like a central bank.

3. Assistance and Advice:

a.
Federal Open Market Committee includes the seven governors plus five regional Federal Reserve Bank presidents whose terms alternate.  They set policy on buying and selling of government bonds, the most important type of monetary policy, and meet several times each year.

b.
Three advisory councils exist: Federal Advisory Council includes twelve prominent commercial bankers, one from each Fed district, who act as advisors to the Board,  Thrift Institutions Advisory Council advises on thrift institution matters, the Consumer Advisory Council advises on more general issues.  (See Figure 13-4)

4.
The system has twelve districts, each with its own district bank and two or three branch banks.  They help implement Fed policy and are advisory.  (See Figure 13-4)

a.
Each is quasi‑public:  It is owned by member banks but controlled by the government’s Federal Reserve Board, and any profits go to the U.S. Treasury.

b.
They act as bankers’ banks by accepting reserve deposits and making loans to banks and other financial institutions.

3.
About 8,600 commercial banks existed in 2001.  They are privately owned and consist of state banks (three‑fourths of total) and large national banks (chartered by the Federal government).

4. Thrift institutions consist of savings and loan associations and mutual savings banks.  They are regulated by the Treasury Dept. Office of Thrift Supervision, but they may use services of the Fed and keep reserves on deposit at the Fed.  See Figure 13-4.

5. Global Perspective 13-1 gives the world’s ten largest banks.

B.
Functions of the Fed and money supply:

1.
The Fed issues “Federal Reserve Notes,” the paper currency used in the U.S. monetary system.

2.
The Fed sets reserve requirements and holds the reserves of banks and thrifts not held as vault cash.

3.
The Fed may lend money to banks and thrifts, charging them an interest rate called the discount rate.

4.
The Fed provides a check collection service for banks (checks are also cleared locally or by private clearing firms).

5.
Federal Reserve System acts as the fiscal agent for the Federal government.

6.
The Federal Reserve System supervises member banks.

7.
Monetary policy and control of the money supply is the “major function” of the Fed.

C.
Federal Reserve independence is important but is also controversial from time to time.  Advocates of independence fear that more political ties would cause the Fed to follow expansionary policies and create too much inflation, leading to an unstable currency such as that in other countries (see Last Word for this chapter).

VII.
Recent Developments in Money and Banking

A.
Relative decline of banks and thrifts:  Several other types of firms offer financial services.

B.
Consolidation among banks and thrifts:  Because of failures and mergers, there are fewer banks and thrifts today.  Since 1990, there has been a decline of 5000 banks.

C.
Convergence of services provided has made financial institutions more similar:  See text on new laws of 1996 and 1999 that made many changes possible.

D.
Globalization of financial markets:  Significant integration of world financial markets is occurring and recent advances in computer and communications technology suggest the trend is likely to accelerate.

E.
Electronic transactions: Internet buying and selling, electronic cash and “smart cards” are examples.

1.
In the future, nearly all payments could be made with a personal computer or “smart card.”

2.
Unlike currency, E‑cash is “issued” by private firms rather than by government.  To control the money supply the Fed will need to find ways to control the total amount of E‑cash, including that created through Internet loans.
VIII.
LAST WORD:  The Global Greenback

A.
Two-thirds of all U.S. currency is circulating abroad.

1. Russians hold about $40 billion because dollar value is stable.

2. Argentina holds $7 billion and fixes its own peso exchange rate to dollar reserves.

B. U.S. profits when dollars stay overseas: It costs us 4¢ to print each dollar and to get the dollar; foreigners must sell Americans $1 worth of products.  Americans gain 96¢ over cost of printing the dollar. It’s like someone buying a travelers check and never cashing it.

C. Black markets and illegal activity overseas also are usually conducted in dollars because they are such a stable form of currency.

D.
Overall, the “global greenback” is a positive economic force.  It is a reliable medium of exchange, measure, and store of value that facilitates transactions everywhere and there is little danger that all the dollars will return to U.S.
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